1 iR

(1) &% 10ADEEEY (FEHHRABF X 87.6&74 Y.
(2) Hfa 10ADHEER (FEHHABF) X 87.8&74 Y.
(3) #E 10ADEEEH (FEHHABF) X101.3&74 Y,

HARMIXEHA®R (FAR215F10A %)

BTALLTIL LR L= £AEHEBDOLRICK
AALTL2%ER L=, HEAHEHZOLERICK
BTALTO IMET LTz, AERBOETICRLEEEZEALRER @EMMIE) THo1-.

AR R RAFERRER
TR21412R258

FEESZLEER TEREBEEHBIE] THo 1=,
TEESA-EER THEREEHEBIE] THo1=.

ESEES 3 (ERITEFEHE100£F B)
AR 2E
EE BIAL (%) LB DOWR e [ATAL (%)
87 6 BEHRLER L-£E - AL (%) - &H EFHSE - TN RIE 1.5 yavyTn
R : 1. O[fEA B LET L% - 1AL (%) - & RERMITE A 279 &3 86. 1 0.5
Ty AEHTLER EHOTHI-BLEELEE - AL (%) - KB |FREEHHRTE 8.7 HEE
87 8 BEHSRLER L2 - AL (%) - &H ERBIEMMT % 15,44 F RBIEEE
TS : 1. 258 BEET L2 - AL (%) - &H EEMSTE A 53.7 & 88.8 1.3
4y AEHETLES EHOTHI-BLEELLEE - AL (%) - KB |FREEHRTE 15.4 KG&F LE
101.3 BEHSRLER L2 - AL (%) - &H ERBIEMMT % 40.3 $EHES
FEEIE S ' A 0 1[EEVSLETLLEE - AL (%) - &E RERMITE A 739 E3t 93.3| A 1.5
27 BRYIZIET BHOEEHICRIEZEL-EE - 1AL (%) - MEB |[BEHEBIE A1297+—9YT SV

[FEia#] (ERRITEEHYZE100&£5 5) (FERRITEEHZE100ET )
AR - SET IR (SHBEFIER) QR (BE145)
M | MERAK (%) s " ”(W) 1300
1200 |
e A 3.7 89.9| A 15.1 oo |
155 AEHKTIET 1000 |
90.0
wemm | 844 A4l 0.2/ A 130 | |
1357 AE#HKTIET ’
70.0
wwmm | 1034 A T3 94.3| A 14.4 00 . ‘
ﬁfrﬁﬁ.‘ﬁﬁ’CﬁT H20.10 11 12 H21.1 2 3 4 5 7 8 9 10




2 FEEXOBMA
(1) FEEFLERROER

(ERITEFHE10ET )

(2) FEREXREHOATAL

130.0

110.0

90.0

70.0

50.0

30.0

FTEEXLEERBOEB (BE1E7)

H20.10 11

12 H211 2 3 4 5 6 7 8 9 10

[ ——STE —— —HH —— B = WERR O BHREC

RS H R 3 RS
BIAL (%) | ®IBH (%) | ®IAL (%)

— MR T A 43 A 50 A 1.5
TR TE A 22 A 0.8 A 1.8
WL T % A 48 A 1.3 A 129
BEE T 2.5 2.8 A 3.8

3 SIFEBO#HE

(ERITETEHZ100£T B)

130.0

IR RIEH (EERABFRR) DS

1200

1100

—HE
Hi%r
—iE

7 H16.1 7 H17.1 7 H18.1 7 H19.1 7 H20.1 7 H21.1 7

[(FRITFEREICE T HEERERUVELLENHKSHE. RKIEE]

B8 ATAL (%)

1] 1111 (K018 )| 11,0 (H21.48 )

5| 2| 1057 (Me12A)| 6.6 (HIT.1A)

£ 3| 1054 (W9.88 )| 51 (H0.18)
-

5 1| 698 (o1 5R )| A 137 (H20.128)

El2| 753 (Hrim)| A3 (Hi28)

3| 775 (W24 )| A 7.2 (H20.28)




